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1. Define:           [ 1.5 x 6 = 9 ] 

 a) Port    b) Museum  c) Kolam   

d) Zoological Park  e) Spices  f) Tableau 

2. Answer in detail:          [ 2.5 x 8 = 20 ] 

a) Write the names of important industries of Kolkata. 

b) Write the names of tourist places in Visakhapatnam. 

c) Write the names of famous waterfalls near Ranchi. 

d) How is Republic Day celebrated in the capital of India? 

e) How has life in villages improved now? Write any two points. 

f) Write three road safety rules. 

g) Who founded Jaipur? Why is it known as the pink city? 

h) Why do we use spices? Write the name of three spices used by your mother in the kitchen. 

3. Answer in short:          [ 1.5 x 6 = 9 ] 

a) Why do people wear different types of clothes? 

b) Name three great personalities whose birth anniversaries are celebrated as festivals. 

c) Which city is situated on the banks of two lakes? Write the names of the lakes. 

d) Who elects the member of the Gram Panchayat? 

e) How do we choose a particular vehicle to travel? 

f) Why do farmers in our country grow different types of crops? 

4. Answer in one sentence:         [ 1 x 10 = 10 ] 

a) When and where is the hornbill festival celebrated? 

b) Name the twin cities of India. 

c) Name the person whose statue has been built at Ranchi lake? 

d) Name two popular handicrafts of Jaipur. 

e) What is a phiran? In which state is it worn? 

f) What should we do to reach the other side of the road safely? 

g) Name the most common means of transport used in villages. 

h) Write the earlier name of Vizag and Thiruvananthapuram. 

i) Why do we celebrate national festivals? 

j) Where is Chennai located? 

5. Name the following:          [ 1 x 10 = 10 ] 

a) Silicon valley of India __________________. 

b) City of temples __________________. 

c) Traditional music of Chennai __________________. 

d) A popular dance of Karnataka __________________. 

e) Pride of Hyderabad__________________. 

f) Popular festival of Maharashtra __________________ 

g) The busiest railway station in India __________________ 

h) A famous cricket ground of Kolkata __________________ . 

i) We should avoid them in weddings and festivals. __________________. 

j) This river flows through your city  __________________. 

 

 

 

 

 

 

 

 

6. Fill in the blanks:          [1 x 5 = 5 ] 



a) The __________________ hoists the national flag at the Red Fort in Delhi. 

b) Women in Assam wear __________________. 

c) __________________ is the free food given in gurudwaras. 

d) __________________ is worn by girls during festivals in Chennai. 

e) __________________ is a model or design used as a guide in needlework and other crafts. 

 

7. Write ‘True’ or ‘False’ :         [0.5 x 10 = 5 ] 

a) Kolkata is situated on the banks of Hugli. 

b) Most people in Bengaluru speak Odia. 

c) In TamilNadu, the lungi is called Mundu.. 

d) Houses build of mud and straw are Kuchha houses. 

e) Rice, Wheat and Bajra are foodgrains. 

f) Onam is the main festival celebrated in Guwahati. 

g) Another bridge built on the river Hugli is Mahatma Gandhi Setu. 

h) People wear cotton clothes when it is cold. 

i) An aeroplane can cover long distances in a short time. 

j) Dr. S. Radhakrishnan was fondly called Chacha Nehru by children. 

8. Match the following:          [0.5 x 10 = 5 ] 

  Column A     Column B 

a) Ahmedabad     i)     Andhra Pradesh 

b) Jaipur      ii)    Ram lila 

c) Train      iii)   Victoria Memorial 

d) Mumbai      iv)   Ranchi  

e) Navroze      v)    spice  

f) cardamom      vi)   Parsi New year 

g) Tagore Hill     vii)  Gandhi Ashram 

h) Kolkata      viii) Hawa Mahal 

i) Dussehra      ix)    railway track 

j) Vizag      x)     Essel World 

9. Write the dates for the following :-        [ 0.5 x 6 = 3 ] 

 a) Children’s Day. 

b) Teacher’s Day. 

 c)  Gandhi Jayanti. 

 d) Republic Day. 

 e) Independence Day. 

 f) Foundation Day of DPS, Ranchi  

 

10. Diagram:           [ 2 x 1 = 2 ] 

 Draw the means of transport (any one) which you can avail to travel long distances. 

11. Identify the cities on the basis of the clues given below     [ 0.5 x 4 = 2 ] 

a) Green –tech city __________________. 

b) City of pearls __________________. 

c) Bollywood __________________. 

d) Howrah bridge __________________. 
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1. Define these terms:          [ 2 x 4 = 8] 

 a) shadow  b) cloud  c) water cycle  d) satellite 

2. Short answer questions:         [ 2 x 4 = 8 ] 

a) What are stars and constellations? 

b) How is rainwater collected in puddles harmful? 

c) Write any two ways of soil conservation? 

d) Why is the Sun important to us? 

3. Answer in one sentence:         [ 1 x 4 = 4 ] 

a) Why does the Earth appear flat? 

b) Write any one property of sound? 

c) Who is the basic determiner of weather? 

d) In which season days are shorter and nights are longer? 

4. Answer in detail:          [ 3 x 5 = 15 ] 

a) Explain how light helps us to see. 

b) How does changing weather affect us? 

c) How is the atmosphere important to us? (any 3 points) 

d) List the three uses of soil. 

e) How is air different from water?  

5. Give reasons:           [ 2 x 2 = 4 ] 

a) Life is possible on Earth. 

b) Loamy soil is good for plant growth. 

6. Distinguish between:          [ 2 + 3 = 5 ] 

 a) Transparent and Translucent. 

 b) Rotation and Revolution. 

7. Name the following:          [ 1 x 8 = 8 ] 

a) A huge, organized collection of stars.   -__________ 

b) The imaginary line on which the Earth spins.   -__________ 

c) A desert plant.       -__________ 

d) Ice changes to water by this process.   -__________ 

e) The vast expanse of empty place.    -__________ 

f) Plants take in this gas during photosynthesis.  -__________ 

g) The strong wind which cause damage to houses and trees.-__________ 

h) The biggest planet.     -__________ 

8. Fill in the blanks:          [ 1 x 8 = 8 ] 

a) Too much of rain causes __________. 

b) Removal of top soil by either wind or water. __________. 

c) The __________ is made up of rocks, metals and gases. 

d) The thick layer of gases surrounding the Earth is called __________. 

e) Long winter sleep is called__________. 

f) Rainy season is also known as __________. 

g) The bouncing off, of light is called __________. 

h) The shape of the Earth is called __________. 

9. Write ‘True’ or ‘False’:         [0.5 x 8 = 4 ] 

a) Sound travels in straight line. 

b) Nitrogen is the most abundant gas in the atmosphere. 

c) Three states of water are interchangeable. 

d) Earth rotates from east to west. 

e) Loamy soil is very smooth to touch. 

f) The moon is our nearest neighbour in space. 

g) Autumn season spans the month of June to August. 

h) Water vapour changes into water on cooling. 

 

 

 

 

10. Complete the series:          [ 1 x 6 = 6 ] 



a) cool breeze : spring   : :  ______________ : summer 

b) red planet : mars    : : ringed planet : _____________ 

c) ringing : telephone  : : _____________ : fan 

d) new moon : ____________: : full moon : purnima 

e) Apollo-11 : _____________   : : Sputnik-I : artificial satellite 

f) ________________ : honking horns : : pleasant sound : chirping of birds 

11. Match the column:          [0.5 x 8 = 4 ] 

 (Copy down the words from column A. Write down the correct match beside them.)                           

               Column – A          Column – B  

a) sandy soil     * Neil Armstrong 

b) buzzing     * moon 

c) astronaut     * salty 

d) sea water     * honey bee 

e) craters     * spring 

f) ice      * sound 

g) Bihu     * freezing 

h) vibration     * big particles 

12.  Name the given diagram and label the arrows:      [ 0.5 x 4 = 2 ] 

 

   
 

13. Draw and label           [ 2  ] 

  Any two artificial sources of light    

14.  Name the given constellations.         [ 2  ] 

 

 

a) 

 

 

 

b) 
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Section – A  

1. Fill in the blanks:           [ 1 x 12 = 12] 
a) There are  ________ one-third in a whole. 

b) The denominator in the fraction 
10

8
  is ________. 

c) Two, ��50 notes and one � 100 note is equal to  ________. 

d) ��50.14 = ________ paise. 

e)  1 kilometre =________metres 

f) 1 litre = ________ x 250 ml. 

g) There are  ________ minutes in two hours. 

h) There are_______  months in 6 years. 

i) A line segment that can be extended endlessly in one direction only is called a __________. 

j) A cone has ___________ vertex. 

k) 0,  50,  100,  150,  __________  ,  _________. 

l) Seventh number in the sequence of numbers 10,  20,  30,  40 will be ________. 

2. Write ‘True’ or ‘False’:          [ 0.5 x 10 = 5 ] 

a) Fraction for four-sixths is 
4

3
. 

b) Four one-fourth make one whole. 

c) Five ��8 notes make � 40. 

d) Litre is a measure of weight. 

e) The longer hand of a clock is the minute hand. 

f) In a non-leap year February has 28 days. 

g) Three line segments form a rectangle. 

h) Four faces are there in a cube. 

i) Litre is the standard unit of capacity. 

j) 100 grams make 1 kilogram. 

3. Match the column:          [ 1 x 5 = 5 ] 

   Column – A          Column – B  

a) 7m     i) 3: 55 

b) 1 hour    ii) square 

c) 5 minutes to 4   iii) 31 days 

d) Face of a dice   iv)  700 cm 

e) August    v) 60 minutes 

4.  Do as directed:           [ 2 x 12 = 24 ] 

a) Find one-seventh of 49. 

b) Write the fraction for three-sevenths . 

c) Convert 2 rupees 5 paise into paise. 

d) Subtract        � 83.05 
__      

�72.85 

e) Convert 3 km 7m into metre.   

 

 

 

 

 

 

 

 

 

 



f) Add      kg    g 

   7  400 

+ 5        250 

g) Find out the time duration between 6:40 a.m. and 11:30 a.m. 

h) Name the line segments in the given figure 

                                              

i) Write the number of faces, edges and vertices in a cuboid. 

j) Draw all the lines of symmetry in a square. 

k) Complete the sequence 

1,  3,  6,  10,  ________ ,  ________. 

l) Find the eighth number in the sequence of numbers: 

9,  18,  27,  36,  _________ 

Section – B  

5. Solve the following:          [ 3 x 6 = 18 ] 

a) Out of 10 total birds sitting on the tree, 4 birds flew away. What fraction of birds remain sitting on the 

tree? 

b) Cost of one Hindi book is �13.20. Find the cost of 5 such Hindi books. 

c) A line is 1m 65 cm long. How long will it be if another 80 cm is added to it? 

d) The flag is 4m 30 cm long and 2m 80 cm broad. How much is the breadth less than the length? 

e) Shyam starts writing an exam paper at 10:30 a.m. and finishes at 2:40 p.m. What is the duration of the 

exam? 

f) Draw lines of symmetry for the following alphabets. 

a) M   b) D   c) H 

6. Solve:            [ 4 x 4 = 16] 

a) I purchased a doll for ��25.30, a tennis racket for ��12.25 and a ball for � 4.25 from the toy store. How 

much did I spend in all? If I gave a fifty-rupee note to the shopkeeper, what amount was returned to me? 

 

b) The distance between two towns is 580 km 600 m. A bus has covered 395 km 175 m. How much 

distance is left? 

 

c) In the adjoining figure :- 

 

i) How many vertices are there in square ABCD? _____________ 

 

ii) How many sides form a square? ________________ 

iii) Measure the sides of square ABCD 

      AB= _________________ 

      BC= _________________ 

      CD= _________________ 

      DA= _________________ 

d) Write the next two terms in each. 

i) 100,   87,   74,   61,   _______ , _______ 

ii)   4,   12,   36,   108,   _______ , _______ 
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Section – A ( Reading) 

1. Read the passage carefully and answer the questions that follow:     [ 5 ] 

The moon is our nearest neighbour in space. It is a large ball of dusty rocks. There is no air on the moon 

although traces of water have been found. That is why no plants or animals can live there. During the 

day, it is freezing cold. The moon looks bright in the sky because it reflects the light of the Sun. As the 

Sun lights up different parts of the moon, its shape seems to change. The moon goes around the earth 

once every month. The path along which the moon revolves is called its orbit.      [ para – 1] 

The moon is covered with deep holes called craters. Neil Armstrong was the first man to step on the 

moon. People who travel into space are called cosmonauts.    [ para – 2 ]     

        

a) What is an orbit? {para- 1}                (1) 

b) What are craters?  {para- 2}                        (1) 

c)  Complete the following.  {para- 2}                     

  i) _____________ was the first man to step on the moon.     (1) 

 ii) People who travel into space are called ____________    (1) 

d) Write the antonym of: 

 i) bright X _____________________      (1) 

2. Read the poem given below and answer the questions that follow:      

                     Ferry Me Across the Water. 

    (Stanza – 1) “Ferry me across the water,  

    Do boatman, do.” 

   “If you’ve a penny in your purse 

     I’ll ferry you.” 

    (Stanza – 2) “I’ve a penny in my purse, 

    And my eyes are blue, 

    So ferry me across the water, 

    Do boatman, do.” 

    ( Stanza – 3) “Step into my ferry-boat, 

     Be they black or blue, 

     And for the penny in your purse 

         I’ll ferry you.”     
__ 

Christina Rossetti 

            Note:- meaning of ferry:- to carry by boat across a lake, river etc. 

Answer these questions:              [ 5 ] 

  a) What was the request made to the boatman?  (Stanza – 1 ) [ 1 ] 

  b) Fill in the blanks:       [ 2 ]  

  i)  _________ was the colour of the eyes of the person who made the request.  (Stanza – 2) 

  ii) Step into my  _________ boat, Be they black or blue. (Stanza – 3) 

  c) Write a rhyming word for: ( not from the poem)                            [ 2 ]     

   i) ferry- ____________  ii) blue- ____________        
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Section – B ( Writing) 

3. a) You are Aarav/Aditi of class III/A. You have lost your pencil box in the Art room of your    

                 school. Write a notice for the same.        [ 5 ] 
     OR 

b) You are Aarav/Aditi of class III/A.You have found a water bottle in the school football ground.   

     Write a notice for the same. 

4. Paragraph writing ( Write any one):         [ 5 ] 

 a) Winter Season    or  b) My School Picnic   

  

 

Section – C ( Grammar – 30 marks) 

5. Do as directed:           [ 1 x 5 = 5 ] 

 a) We ___________ basketball everyday.(play) (Use Simple Present Tense form of the verb) 

 b) She ___________ beautiful poems in Hindi. (write) (Use Simple Present Tense form of the verb ) 

 c) Sonam ___________ a new dress for her birthday. (buy)  ( Use Simple Past Tense form of the verb ) 

 d) I  __________ a book. (read)       ( Use Present Continuous Tense form of the verb ) 

 e) He __________ outside the gate. (wait) (Use Present Continuous Tense form of the verb ) 

6. Fill in the blanks by choosing the right verb from the brackets:    [ 1 x 5 = 5 ] 

 a) Nobody ___________ when he will arrive. (know/knows) 

 b) He ___________ to office early everyday. (go/goes) 

 c) His mother ___________ delicious food. ( cook/cooks) 

 d) The kittens ___________ with the ball of wool. ( are playing/ is playing) 

 e) The teacher ___________ a lot of books. ( read/ reads) 

7. Fill in the blanks with  is, am, are, was, or were :      [ 1 x 5 = 5 ] 

 a) We  ___________ the last ones to reach the assembly hall yesterday. 

 b) I _____________ very happy today. 

 c) Ashu and Sahil ___________ in class III this year.  

 d) I ___________ absent for the meeting yesterday. 

 e) He __________ very hungry at this moment. 

8. Fill in the blanks with  has,  have, had :        [ 1 x 5 = 5 ] 

 a) I   ___________ no time to talk with him last night. 

 b) You _____________ to wait in the queue. 

 c) She___________ a beautiful kitchen garden.  

 d) Pankaj ___________ a cricket kit but he lost it. 

 e) Maya __________ golden hair. 

9. Fill in the blanks with suitable prepositions from the brackets :    [ 1 x 4 = 4 ] 

 a) There is a picture ___________ the wall. ( on / in ) 

 b) The cow is hiding ___________ the tree. ( behind / before ) 

 c) Rajni stood  ___________ Angad and Seema. ( at / between ) 

 d) The children are playing ___________ the park. ( in / into ) 

10. Identify the adverbs in the following sentences and write their kinds :   [ 1 x 3 = 3 ] 

 a) His parents will come soon. 

 b) The sun was shining brightly. 

 c) The boys are waiting outside. 

11. Join these sentences with suitable conjunctions and rewrite them.    [ 1 x 3 = 3 ] 

 a) I can offer you tea. I can offer you coffee. 

 b) I tripped over a stone. I fell down. 

 c) Mohit was happy. Mohit got first position. 
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Section – D ( Literature – 30 marks) 



12. Answer in detail:           [ 2.5 x 4 = 10 ] 

a) From  where do the snowflakes come? What other shape do the snowflakes take?[ ‘Snowflakes’] 

b) What would be better to do instead of dusting? [ ‘Dust if you must’  ] 

c) How would Aunt Ruby taunt the parakeet? [ ‘The Parrot who wouldn’t Talk’ ] 

d) Why was Yuuki’s grandmother considered a wise woman? [ ‘Yuuki and the Tsunami’ ] 

13. Answer the following questions with reference to the context:    [ 2 x 4 = 8 ] 

 a) ‘The man fell at Akbar’s feet and admitted that he had stolen the ring. The emperor was surprised.’   

           [ ‘Birbal Catches a Thief’ ] 

  i) Why was the emperor surprised? 

  ii) How was the man caught? 

 b) “This day will not come around again”.  [ ‘Dust If You Must’ ] 

  i) Why will this day not come around again? 

  ii) What can we do to make the most of ‘this day’? 

 c) “But goldfish don’t talk!”  [ ‘The Parrot Who Wouldn’t Talk’] 

  i) Who said these words and to whom? 

ii) Who wanted to get a goldfish?  

 d) “It was. But it has stopped and we are safe.”  [ ‘Yuuki and the Tsunami’ ] 

  i) Who said these words and to whom? 

  ii) What is ‘it’? 

14. Give the meanings: ( in reference to the book)      [ 1 x 6 = 6 ] 

 a) bosom   b) hesitatingly   c) prospect   

d) fond of   e) dude    e) frequent 

15. Make sentences with the following words:       [ 1 x 4 = 4 ] 

 a) upset  b) surprised  c) strange  d) greedy 

16. Fill in the blanks:          [ 1 x 2 = 2 ] 

 a) Yuuki’s grandmother was considered as a   ___________________ woman. 

 b)  ___________________ was one of the nine gems in the court of Emperor Akbar. 
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   NAME:- ____________________________________________________________ 

I. Answer in one word.               [ 1 x 10 = 10 ] 

1) Who was the first human being to walk on the Moon? 

 Ans:- _______________________________________________________________ 

2) Which was the first newspaper published in India?  

Ans:- _______________________________________________________________ 

3) Who invented the first online shopping or e-commerce ? 

Ans:- _______________________________________________________________ 

4) Who was the first woman to travel in space ? 

Ans:- _______________________________________________________________ 

5) Which is the most famous painting of Leonardo da Vinci? 

Ans:- _______________________________________________________________ 

6) Which is the closest star to the sun? 

Ans:- _______________________________________________________________ 

7) In which city are the Wimbledon Games held?  

Ans:- _______________________________________________________________ 

8) Who is the author of the book “The Adventures of Sherlock Homes” ?  

Ans:- _______________________________________________________________ 

9) Which country Rembrandt (a famous painter) belongs to?  

Ans:- _______________________________________________________________ 

10) The study of minerals is called. 

Ans:- _______________________________________________________________ 

 

 

 

 

 

 

 

 

 

 

 

 



II. Write 'True' or 'false' .               [ 1 x 10 = 10 ] 

1) February 29 is also known as leap year day. - ______________ 

2) France has won 2014 FIFA World Cup. - _______________ 

3) The study of rocks is called geology. - ________________ 

4) In 1492 Vasco da Gama reached the coast of Calicut in India. - _____________ 

5) Bangkok is also known as ‘City of Anger’.  - _______________ 

6) Mercury is the hottest planet of the solar system. - _________________  

7) F11 key is used to enter and exit the full screen mode. - ________________ 

8) Alexander Graham Bell invented the world's first television. - ______________ 

9) Mark Zuckerberg has studied in Harvard University. - _______________ 

10) Graphite is an igneous rock used to make buildings. - _____________ 

III. Fill in the blanks :                             [ 1 x 5 = 5 ] 

1) _________________ is the hardest natural substance found on earth. 

2) _________________ stones are the bubbles of volcanic lava. 

3) _________________  is a huge cloud of gas and dust in space. 

4) Millions of stars together form a _______________ 

5) Guernica is a painting by ________________ 

IV. Unscramble the words.          [ 1 x 5 = 5 ] 

1) This is one of the oldest city of India and is known for its many ghats.   (ISANARAV) 

_________________________  

2) Vasco da Gama died in this city. (NOCHIC)    _________________________ 

3) This famous cave painting is found in India. (AAJTAN)  _________________________ 

4) This bird found in Antarctica can swim but not fly. (NIGUPEN) 

_________________________  

5) The state which was part of Andhra Pradesh, before 2014. (LATENGANA)  

_________________________ 

V. Write the full form of the following -      [ 1 x 5 = 5 ] 

1) WWW       - __________________________________________________________   

2) UNICEF   - __________________________________________________________    

3) ASAP      - ___________________________________________________________    

4) ATM        - ___________________________________________________________   

5) TTYL - ___________________________________________________________   

 

 

 

 

 

 

 

 

 

 

 

 



 

VI. Match the following               [ 1 x 5 = 5 ] 

 1) Ferdinand Magellan     a) USA  

 2) Yuri Gagarin      b) Holland 

 3) Michelangelo      c) Italy 

 4) Vincent van Gogh     d) Russia 

 5) Neil Armstrong      e) Portugal 

VII. Current Affairs :                         [ 1 x 5 = 5 ] 

1)  Which city will host 2022 Commonwealth Games?  

    a) London   b) New Delhi  c) Birmingham  d) Gold Coast 

2) From which city  of China, Corona Virus has spread?  

     a) Beijing b) Shanghai  c) Wuhan   d) Nanjing  

3) Which state of India has won 1
st
 prize in 71

st
 Republic Day parade 2020 ?  

     a) Assam   b) Odisha   c) Uttar Pradesh   d) Manipur  

4) Who became the new Chief Minister of Jharkhand ?  

     a) Sibu Soren   b) Arjun Munda  c) Hemant Soren   d) Raghubar Das 

5) In which city of Jharkhand, Central Government has approved setting up of a new All   

              India Institute of Medical Sciences ( AIIMS)?  

     a) Ranchi      b) Deoghar       c) Dhanbad    d) Jamshedpur 

VIII. Choose the correct option                          [ 1 x 5 = 5 ] 

1) Who won the 1
st
 T-20 World Cup? 

a) Sri Lanka  b) USA  c) India  d) Canada 

2) Who is known as the Flying Sikh of India? 

a) Usain Bolt  b) Milkha Singh c) Sandeep Singh d) Navjot Singh 

3) At the Beijing Olympic Games in 2008 _____________________ became the first 

Indian to win an individual gold medal. 

a) Gagan Narang    b) Leander Paes        c) Vijender Singh d) Abhinav Bindra 

4) What colour cards do the referees carry in a football match? 

a) Red & yellow    b) black & white         c) red & green    d) blue & green 

5) Commonwealth games are held after every _______________ years. 

a) 3   b) 4   c) 5   d) 6 
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Q1. Choose the correct option :-                                                               [0.5 X 5 = 2.5] 

a) Which tool helps to cancel the last action? 

i. Redo  ii.  Eraser         iii.  Undo        iv.  Pencil           

b) Which primitive is used to move the turtle in forward direction? 

i. BK  ii.   FD   iii.   LT   iv.   RT  

c) Which command is used to exit from LOGO ? 

i. CS   ii.   BYE    iii.   CT   iv.   FD   

d) Which of the following option is used to apply magical effects? 

i. Line Tool      ii. Print Tool      iii. Stamp Tool     iv. Magic Tool  

e) Which primitive is used to move the turtle without drawing any line? 

i. PE   ii.   PU   iii.   BK   iv.   RT  

Q2. Fill in the blanks :-                                                                [0.5 X 5 = 2.5] 

a) ___________________ can be said as “Expressway of information”. 

b) Email stands for ________________________________ 

c) The ___________________ primitive is used to call the turtle to it’s beginning place. 

d) ________________ tool is used to draw lines of different thickness and style. 

e) The drawing is made in the ___________________ canvas. 

Q3. Write the commands for the following :-                                        [0.5 X 4 = 2] 

a) To move the turtle 40 steps back               _____________________ 

b) To turn the turtle towards right by 120 turns                        _____________________ 

c) To move the turtle 100 steps ahead           _____________________ 

d) To turn the turtle by 20 turns towards left                            _____________________ 

Q4. Write the name of the tools :-                                                             [1 X 5 = 5] 

a) To quit the tux paint                                             ______________________________ 

b) To draw a circle                                                    ______________________________ 

c) To type any text                                                    ______________________________ 

d) To insert an image or a sticker                             ______________________________ 

e) To take the print of the drawn picture                 ______________________________ 

 

Q5. Write Repeat Command to draw the following :-                                      [1 X 2 = 2] 

a) Square                ______________________________________________________ 

b) Circle                 ______________________________________________________ 

 

Q6. Differentiate between :-                                                               [2 X 2 = 4 ] 



a) PU   and   PD 

 

 

 

 

 

 

 

 

b) CS   and   CT 

 

 

 

 

 

 

Q7. Write short notes on :-                                                               [2 X 2 = 4] 

a) Social Media - _________________________________________________________ 

_____________________________________________________________________ 

_____________________________________________________________________ 

b) e-commerce - _________________________________________________________ 

_____________________________________________________________________ 

_____________________________________________________________________ 

Q8. Answer the following questions :-                                             [2 X 4 = 8] 

     a) What is the full form of LOGO? 

 _______________________________________________________________________ 

b) What is turtle ? 

 

c) Write any two advantages of internet. 

 

d) Write any two uses of internet? 
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